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Question 1

The Perry Company has $2,625,000 in current assets and $1,050,000 in current liabilities.
Its initial inventory level is $750,000, and it will raise funds as additional notes payable
and use them to increase inventory. How much can Perry’s short-term debt (notes
payable) increase without pushing its current ratio below 2.0? What will be the firm’s
quick ratio after Perry has raised the maximum amount of short-term funds? {(10%)

Question 2

Sweetwater Company has 6,500 shares of stock outstanding. The market value of
Sweetwater’s assets is $1,050,000. The market value of outstanding debt is $300,000.
Some time ago, Sweetwater issued 100 warrants that are now about to expire. Each
warrant gives the owner the right to purchase 10 shares of stock at a price of $75 per
share.

Required:

(8 If all of the warrants are exercised, what is the price per share of Sweetwater
stock? What is the gain from exercising one warrant? (10%)

(b)  Suppose that a call option to buy 10 shares of stock in a company comparable to
Sweetwater has an exercise price of $75. The comparable company, Sour Pete, is
identical to Sweetwater, except that it has no warrants outstanding. What is the
price per share of this firm’s stock? What is the gain from exercising this call
option? (10%)
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Question 3

Suppose that securities are priced on the basis of the Capital Asset Pricing Model. You
have forecast the correlation coefficient between the rate of return on Stock X and the
market portfolio at 0.8. Your forecast of the standard deviations of the rates of return are
0.4 for Stock X, and 0.2 for the market portfolio.

Required:

(a) Find the covariance between the rate of return on Stock X and the market
portfolio. (5%)

(b) Find the beta for Stock X. (5%)

Question 4

Consider the following project.data:
. A $450 feasibility study will be £onducted att = 0.

® If the study indicates pofential, the|firm will spend $1,000 at t = 1 to build a
prototype. The best estimate now is that there is an 80 percent chance that the
study will indicate potential, and a 20 percent chance that it will not. If the study
does not indicate potential, the project will be abandoned with zero salvage value.

. If reaction to the prototype is good; the firm will-spend $10,000 to build a
production plant at t = 2. The best estimate now is that there is a 60 percent
chance that the reaction to the prototype will be good, and a 40 percent chance

that it will be poor. If the reaction to the prototype is poor, the project will be
dropped with zero salvage value.

. If the plant is built, there is a 50 percent chance of a t = 3 net cash flow of $16,000
and a 50 percent chance of a t = 3 net cash flow of $13,000.

Assume that one year goes by between decisions. The project’s cost of capital is 10
percent. What is the project’s expected net present value? (20%)
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